Solleftea BK

Barometer, foranmalan 2022-11-07

Partavling, 4 bord, 8 par. Antal brickor: 28. Medel: 84.0.

Plac Par Poang % Namn MID Klubb
1 6 102.8 61.17  Vera Moberg - Marianne Wasend 63200 54851 Sollefted BK
2 5 85.3 50.78  Lars Jacobsson - Seth Carlsson 88169 46439 Sollefted BK - Skogs BK
3 4 83.4 49.64  Marja Ritzén - Eva Andersson 31389 54850  Sollefted BK
4 8 82.4 49.07  Torsten Victorin - Jerry Mahler 57031 12554  Sollefted BK
5 3 82.3 48.96  Kerstin Wallin - Anders Eriksson 46448 21260  Sollefted BK
6 2 81.9 48.75  Martha Carlsson - Vivianne Wernblom 41106 18495  Sollefted BK
7 1 77.0 45.86  Ann Lidfors - Birgitta Edvall 13773 57030 Sollefted BK
8 7 76.9 45.77  Karin Zerrander - Kjell Vestin 46706 49439  Sollefted BK
1 «E1073 Basta kontrakt 2 « ED8 Basta kontrakt 3 742 Basta kontrakt
Nord v 9854 6NT O =-990 Ost vE52 3v O =-140 Syd v 9876 24 O =-110
Ingen + D7 NS + Kn987 ov + 107
#Kn92 & ¢ v & NT »D86 & ¢ v & NT #KDKn6 & ¢ v & NT
4 K9 D864 N21321 410965 &K32 N7 6 456 4 DKn85 4 K6 N545505
v K102 v EKn S21321 vKDKn4 v9876 S76 456 vKn v KD532 S54555
¢+ EKn984 ¢ K1032 O 11129 1112 +E1043 +K5 06 6977 +3 ¢ EDKn85 088887
«ED10 *K63 VvV 11129 1112 #Kn 2K1075 V66977 #E1097432 &5 v88877
& Kn52 4 Kn74 4 E1093
vD763 v 103 vE104
465 + D62 + K9642
#8754 #E9432 »8
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poéang
6 3 5¢ O+1 a2 -420 6.0 0.0 8 1 1vO+1 43 -110 6.0 0.0 6 3 3v0-2 8 200 6.0 0.0
4 5 3NV+3 v9 -490 3.0 3.0 4 5 INO+1 43 -120 3.0 3.0 8 1 3v0O-1 8 100 40 20
8 1 BNO+3 3 -490 3.0 3.0 7 2 INO+1 &2 -120 3.0 3.0 4 5 3NO= ¢4 -600 1.0 5.0
7 2 BNV= s A -990 0.0 6.0 6 3 3vVv= *A -140 0.0 6.0 7 2 3NO= +4 -600 1.0 5.0
4 & KKn93 Bésta kontrakt 5 a- Bésta kontrakt 6 &« DKn976 Bésta kontrakt
Vast v K1094 3NT V =-600 Nord vKD53 4¢ N =130 Ost v Kn7 44 O =-130
Alla 4987 NS + D97 ov 4 6543
*73 & ¢ v & NT #KD10952 & ¢ v & NT 109 & ¢ v & NT
484 4 ED1072 N4 3554 4 Kn1053 4 K76 N 9 107 7 8 4 K104 4 E83 N3376 3
vD72 vE53 S 43544 v742 v E10986 S 9 107 7 8 v32 v D108 S3376 3
¢ EK54 ¢ DKn10 O 8 108 8 9 ¢ EKn8 ¢ 42 0335514 ¢ KKn987 ¢ D10 O 109 6 7 8
#D1085 #Kn2 vV 8 108 8 9 #Kn64 #E83 V43655 #Kn84 #EKD63 V 109 6 7 8
465 4 ED9842 452
v Kn86 vKn v EK9654
¢ 632 + K10653 ¢E2
*EK964 »7 #752
Par  Kontr ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr ut Res  Poang
4 5 3NV-1 v4 100 6.0 0.0 56 3aN+1 vA 130 6.0 0.0 56 3NO-2 vK 200 5.0 1.0
6 3 INV+3 a3 -180 4.0 2.0 1 3 245S-1 v4 -100 3.0 3.0 8 2 3NO-2 v6 200 50 1.0
8 1 3NV= v4 -600 2.0 4.0 7 4 2NN-1 v8 -100 3.0 3.0 7 4 3NO-1 vA 100 20 4.0
7 2 3NO+1 #A -630 0.0 6.0 8 2 44 S-2 v7 -200 0.0 6.0 1 3 INO+1 ¥K -120 0.0 6.0
7 & K97654 Basta kontrakt 8 a74 Basta kontrakt 9 » Kn964 Basta kontrakt
Syd v KKn93 ANT V =-630 Vast v EKD873 4v N =420 Nord v9 4v O D -1 200
Alla +5 Ingen ¢+ E54 ov +98
»75 & ¢ v o NT »83 & ¢ v o NT #K109862 & ¢ v & NT
4E1032 8 N11362 4 E10862 4 DKn9 N 6 10107 7 4 EKD75 432 N 10104 6 9
v5 vE8742 S2236 3 vKnl104 65 S 6 10107 7 vKn1086 v KD5432 S 10104 6 9
¢+ KKn6 ¢ E9432 O 11119 7 10 ¢ K7 +1063 07116 2 ¢ 1052 ¢ 64 033964
#EKD98 #102 vV 11119 7 10 #965 #EKNn1072 VvV 7 3 3 6 5 *5 #DKn7 V33964
4 DKn 4 K53 4108
v D106 v 92 vE7
+ D1087 + DKn982 + EKDKn73
#Kn643 «KD4 #E43
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
8 2 3NV-2 46 200 6.0 0.0 1 3 4v N= «A 420 3.0 3.0 15 4v0-1 ¢+K 100 50 1.0
56 3NV-1 a7 100 40 20 5 6 4vN= «A 420 3.0 3.0 6 7 4v O-1 ¢A 100 50 1.0
7 4 24V +3 45 -150 2.0 4.0 7 4 4v N= «A 420 3.0 3.0 8 3 54 N-1 vK -50 2.0 4.0
1 3 3NV= 49 -600 0.0 6.0 8 2 4vy N= «A 420 3.0 3.0 2 4 3vy0O= ¢ A -140 0.0 6.0
10 4 D10976 Basta kontrakt 11 4 D1086 Basta kontrakt 12 4104 Basta kontrakt
Ost v- 3¢ O =-110 Syd v K6 5NT S =460 Vast v EKn82 7NT N =2220
Alla ¢ EDKn Ingen ¢ E62 NS + ED1097
#108432 & ¢ v & NT #DKn103 & ¢ v & NT #Kn3 & ¢ v & NT
4 KKn 4 E83 N8 3685 432 & KKn5 N 119 9 1111 .- 4 D632 N5 9 8 1313
v 108754 vKD S 83685 v43 v DKn852 S 119 9 1111 vK9 vD10543 S 59 8 1313
465 ¢K10987432 O 4 9 6 4 6 ¢ Kn10754 ¢ 83 024422 +Kn8642 ¢5 081500
#KKN75 #- 4 96 46 *K654 #9082 V24422 #KD10965 #874 V81500
4542 «E974 » EKKNn9875
v EKn9632 vE1097 v76
.- + KD9 +K3
#ED96 »E7 &E2
Par  Kontr Ut Res  Poéang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
6 7 4¢ O-1 vA 100 6.0 0.0 8 3 BNS+2  ¢J 460 6.0 0.0 15 44 S= +8 620 5.0 1.0
8 3 3aN-1 43 -100 4.0 2.0 15 44 S+1 &4 450 3.0 3.0 2 4 44 S= v9 620 5.0 1.0
15 4¢DO= 45 -710 10 5.0 2 4 44 S+1 #4450 3.0 3.0 6 7 44 S-1 &K -100 2.0 4.0
2 4 44DO= VA -710 10 5.0 6 7 BNS+1 +5 430 0.0 6.0 8 3 74S-3 &K -300 0.0 6.0
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13 aE2 Basta kontrakt 14 » EK4 Basta kontrakt 15 4 KDKn7 Basta kontrakt
Nord v D862 34 O =-140 Ost vE1085 6NT S =990 Syd v D643 3v V =-140
Alla + Kn964 Ingen + EKn2 NS 4632
#ED8 & ¢ v & NT #EKn5 & ¢ v & NT *73 & ¢ v & NT
« KKn8643 4107 N6 8534 «D87 410653 N 1211121112 «E98654 410 N7 5354
v EKn v K10754 S78545 vKn93 vK42 S 1211121112 v 1087 v EKKn92 S75354
¢32 ¢ E85 06 58 9 8 49854 ¢ D73 012121 + KD ¢ 10875 06 79 8 8
#954 *K102 V658898 #K62 #743 vizil21 +D10 *K95 V6789838
D95 & Kn92 432
v93 vD76 v5
+ KD107 + K106 + EKn94
*Kn763 #D1098 #EKn8642
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
8 4 3v0O-1 ¢+K 100 6.0 0.0 8 4 3NN+2 43 460 6.0 0.0 8 4 34V-2 &3 100 6.0 0.0
35 3¢N-1 T -100 3.0 3.0 2 6 BNN+1 v2 430 40 20 2 6 4v0-1 *A 50 40 20
7 1 3¢ N-1 T -100 3.0 3.0 3 5 3NN= 46 400 1.0 5.0 35 30= *A -140 2.0 4.0
2 6 3¢ N-2 a7 -200 0.0 6.0 7 1 3NN= v4 400 1.0 50 71 4v 0= &A -420 0.0 6.0
16 #1052 Bésta kontrakt 17 « ED1098 Bésta kontrakt 18 «D9 Bésta kontrakt
Vast v EKKn108 54 N =450 Nord v EK42 4¢ N =130 Ost v 832 44 O =-420
ov + EK9 Ingen *2 NS + D85
*E8 & ¢ v & NT *D74 & ¢ v & NT #ED732 & ¢ v & NT
473 & K96 N 6 8 111110 4763 & KKn54 N 7 106 8 7 48762 &EKS53 N9 8324
v3 vD762 S 6 8 111110 vKn9653 v1087 S79577 vE106 vKDKn974 S 9 8 3 2 4
¢ Kn6432 ¢ D5 074111 ¢ KKn5 ¢E 053656 ¢E9% #Kn3 O 4 4 10108
#K10932 #DKn64 V74111 83 #KKn1096 V 5 3 6 5 6 2965 48 V 4 4 10108
« EDKn84 a2 « Kn104
v 954 vD v5
41087 + D10987643 + K10742
*75 #E52 #KKn104
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
35 4¢vN+1 #Q 450 50 1.0 1 2 3NN= 9 400 50 1.0 125v0-1 LN 50 6.0 0.0
8 4 4y N+1 #Q 450 50 1.0 8 5 3NN= 9 400 50 1.0 3 7 34V+1l 5 -170 4.0 2.0
7 1 3SNN+1 #Q 430 2.0 4.0 3 7 4¢ S= *8 130 2.0 4.0 8 5 4v 0= L) -420 2.0 4.0
2 6 4y N= ¢+Q 420 0.0 6.0 4 6 3NS-2 *3 -100 0.0 6.0 4 6 4v O+1 &T -450 0.0 6.0
19 oK Basta kontrakt 20 & E9865 Basta kontrakt 21 4105 Basta kontrakt
Syd v D85 3v S =140 Vast v- 4v V =-620 Nord v752 34 O =-110
oV ¢ EKKn52 Alla + DKn632 NS + 109864
#Kn832 & ¢ v & NT »D82 & ¢ v & NT #D53 & ¢ v & NT
«E93 «Knl0865 N 6 7 9 5 6 «KD102 «Kn N66 273 2 ED9874 4K6 N4 7855
v K97 vE2 S67 956 vKD93 v E10862 S66 273 vE4 v 98 S47 855
410973 ¢ D8 O76 486 ¢ 75 ¢ E1098 O7 6 105 9 ¢ Kn7 ¢ D532 096587
#KD4  #10765 V76 48€6 #E105 4973 V 7 6 105 9 2KKn4 #109762 V96587
D742 743 & Kn32
v Kn10643 vKn754 v KDKn1063
¢ 64 ¢+ K4 ¢ EK
»E9 *KKn64 »E8
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poéang Par  Kontr Ut Res  Poéang
8 5 2vS+2 4A 170 6.0 0.0 4 6 2v0= ¢+ K -110 6.0 0.0 8 6 4vS+1 &4A 650 6.0 0.0
4 6 1v S+2 &4 140 4.0 20 37 2vV+2 ¢Q -170 4.0 2.0 2 3 3aV-1 v2 50 3.0 3.0
37 2+40-1 vJ 100 2.0 4.0 12 4v V= s A -620 2.0 4.0 4 1 34V-1 v2 50 3.0 3.0
1 2 INV+l &2 -120 0.0 6.0 8 5 4v O+1 a7 -650 0.0 6.0 5 7 34V+2 v5 -200 0.0 6.0
22 s E2 Bésta kontrakt 23 «D3 Bésta kontrakt 24 496 Bésta kontrakt
Ost v 9863 44 O =-620 Syd v5 3NT S =600 Vast v 973 34 V =-140
oV + 1073 Alla + K10943 Ingen ¢ E73
#KKn62 & ¢ v & NT #EK976 & ¢ v & NT #KKn1065 & ¢ v & NT
4 Kn9754 4 K86 N4 7 333 4 EKn10872 #4 N9 98809 41043 4EDKn872 N 8 5 6 4 4
vE104 v KKn75 S47 333 v6 vK9732 S99889 vKKn84 vE10 S856 44
+5 ¢ EK8 09 6 10109 +E76 ¢ Kn52 044453 ¢Kn94 ¢ 10652 0587 95
#ED109 4873 V 9 6 10109 #542 #Kn1083 V33453 *E74 *9 V587895
«D103 + K965 « K5
vD2 v EDKn1084 v D652
+ DKn9642 + D8 + KD8
#54 «D «D832
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
57 49 0-2 2 200 6.0 0.0 8 6 ANS+1 a2 630 6.0 0.0 57 44 O-2 *2 100 6.0 0.0
4 1 44 O-1 *5 100 40 20 2 3 3NS= T 600 40 20 4 1 464 O-1 +8 50 40 20
2 3 INO= +6 90 2.0 4.0 5 7 3NN-1 a4 -100 2.0 4.0 2 3 240+1 K -140 1.0 5.0
8 6 4¢ S-2 v4 -100 0.0 6.0 4 1 4vyDS-2 oA -500 0.0 6.0 8 6 34 0= *2 -140 1.0 5.0
25 4 E9752 Basta kontrakt 26 4 Kn984 Basta kontrakt 27 4 K642 Basta kontrakt
Nord v 764 4ANT O =-630 Ost v D983 34 S =140 Syd v52 5NT S =460
ov + 84 Alla + D8 Ingen + EDKn92
#D43 % ¢ v & NT #E106 & ¢ v & NT #94 & ¢ v & NT
« K843 «Knl0 N2 2753 « KD6 a2 N7 4496 » 98 «Kn75 N 8 116 1111
vK2 vKnl10 S22753 v K76 v EKn542 S74496 vEKn84  v109763 S 8 116 1111
+ KKn5 ¢ E10976 O 11116 8 10 41076432 + KKn O6 88 46 + K54 + 106 052722
2K986 #EKn75 V 11116 8 10 3 #D7542 V68846 #KKn107 #652 V52722
D6 «E10753 «ED103
v ED9853 v10 vKD
+ D32 ¢ E95 4873
£102 #KKn98 #ED83
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
3 4 2vS= *6 110 6.0 0.0 6 1 44 S+1 vK 650 6.0 0.0 8 7 44 S+2 &T 480 6.0 0.0
6 1 3vS-1 +K -50 4.0 2.0 3 4 44 S= v6 620 4.0 20 52 3NS+2 v4 460 4.0 20
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52 4v S-2 +5 -100 1.0 5.0 8 7 24 S+1 v6 140 2.0 4.0 3 4 44 S+ *4 450 2.0 4.0
8 7 4v S-2 &6 -100 1.0 5.0 5 2 44 S-1 v6 -100 0.0 6.0 6 1 34 S= v4 140 0.0 6.0
28 4 E92 Basta kontrakt
Vast v K953 ANT V =-430
NS + Kn943
103 & ¢ v & NT
& K8643 & DKn5 N2 3523
v 107 v EKn8 S23523
*5 + KD1086 O 109 8 1010
#EKDKN9 64 vV 109 8 1010
107
v D642
¢E72
#8752
Par Kontr Ut Res Poang
5 2 44 V= v3 -420 50 1.0
6 1 44 V= &3 -420 50 1.0
34 3NO+1 ¢2 -430 2.0 4.0
8 7 44 V+1l a2 -450 0.0 6.0
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